=

O A={24, 12, 6, 18,}
@ A=1{6, 12, 18}
® A={z|z=25HT}t 22 69 H|Z)

@
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2. T A, B ol tiste] n(A4) = 30, n(B) = 23, n(AN
B) =11 2 W, n(A—-B) & n(B—A) 7t LA &= o]
27

® n(A-B):18 ,n(B—A):12
@ n(A-B):12,n(B—-A):18
® n(A-B):19,n(B - A):12
@ n(A-B):11 ,n(B—-A):19

® n(A-B):19,n(B—-A):11

= A% A=1{1,2,3,4,6,7} , B ={1,3,6,9} ol tiat
o] ANB ¢ AUB 7} gut2A] A o) 5129

® AnB : {1,3}, AUB=1{1,2,3,4,6,7,9}

@ AnB {1,2,3}, AUB={1,2,3}

® ANB {1,2,3,4,6,7,9}, AUB = {1,3,6}
@ ANB : {1,3,6}, AUB={1,2,3,4,6,7,9}
® A N B {1,3,6}, A U

{1,2,3,4,5,6,7,8,9}




AF A = {a|ebod o), B
} Abelo] T W thol

o1

5. AART U = {ala= 15 oJake] 4%} o] & 21y

A B RS ANB =0, (AUB) =2 ©
B={2 11, 13} & o, & 4 & FI7?

@ {1, 3} @ {1, 3, 5}
® {1, 3, 5, 7} @ {3, 5}
® {3, 5, 7}

7.

. B
Wl tholol

A {a|z= 99 oF5}
{z|z= 10 M) Z241 Ato]o] BAE

@ @
B Ax B

O )

® ©)
OO
®
A

O

A A = {o]at 25 WW 59 WG} B =

{zlze 1B <z <159 &5} 4 o, n(4) — n(B) 9
&g Tool

@ o
® {z[zE 129 A}
@ {z|lzE z x0=0% A4}

© {z]z= 129] oF}




9. £ AT A= {o| 250050 ADL), B = {o || 124T A={2, 2, 4, 24} W, T2 5 24 P

2,

r= 9E T 22 &5} of tisto] (AmB) C X C (AUB) AERE I2H? (A 27H)

= WEol= A X o I & Fotolet.
DO oeA @ ogcA
® {2,4}c A @ {2,4) ¢ A
® {2,4} ¢ A

10. 14589 U o] = F2HF A, B ol "isto] n(U) =
48, n(A) = 26, n(B) = 23, n(A—-B) = 11 ¥
n((AN B)¢) =7

s

13.% H A, Bl tiste] A= {a, b, e, g} °12, AN
B={b e}, AUB={a b d e f gt € Y
B & oozt

® 31 @ 32 ® 33 @ 34 ® 35

® A-B=1{24}

@ BN A°={3,9}
@ (A°)°={4,5,6,7,8,9}
@ (AUB)® ={5,6,7,8}

® A°n Bc = {5,6,7,8}




